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ENGLISH VERSION

Instructions : (1) Figures to the right side indicate marks.
(2) Show necessary calculations as a part of the
answer.

1 From the following information of a company, determine 20
the tax responsibility of company for the Assessment
Year 2017-18 :

Amount Credited to Profit and Loss Account Rs.
(1) New section 80 IA Net Profit of the New Industrial
ASSOCIATION. «.eeeeieie et 17,00,000

(2) Gross Profit of the

New Industrial Association under section 10

(Tax Exempt Rs. 9,00,000) .......c.ccccevvvvvvvrnnnnnnnnns 10,00,000
(3) Long term profit ..........cooooviiiiiiii e 3,00,000
Amount Debited to Profit and Loss Account Rs.
(1) New Industrial Association expenses
for u/s 10 7,00,000
(2) Depreciation of Year 2014-15 in Current year
written Off ... 10,00,000
(3) Business loss of Year 2014-15 in Current year
WIItten Off .. oo, 12,00,000
(4) Current Year Depreciation...............ccooeeeeeevnnnnn... 10,00,000
(5) Penalties for breach of the law............................ 1,00,000
(6) Provisions for Sales tax ........ccooviiiuiiiiiiiiiiiiiiin. 3,00,000
(7) Proposed Dividend ............coeeiiiiiiiiiiiiiiiiiiiee 2,00,000

Additional Information :

(1) Admissible Depreciation Rs. 19,50,000

(2) Net Profit of Profit and Loss Account prepared by the
Company Rs. 15,00,000

(3) Do not carry forward loss and unabsorbed depreciation.

(4) Income Tax - 30%, Surcharge - 7% and Education
Cess 3%

OR
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1 Param Ltd. a closely held- Indian company, is engaged 20
in the business of manufacture of chemical goods. The
following informations for the financial year 2016-17

given :

Rs.
Sales (DOmeStiC) ........oviiveiiiiiiiieeeeeee e 22,23,900
Sales (EXPOTt) ..oooooviviieeiiiiiieeeeeieeeeee e, 5,76,100
Amount withdrawn form general reserve ............... 2,00,000
Amount withdrawn from revaluation reserve ........ 1,50,000
J 0T 7 31,50,000
Less : Depreciation (Normal)................ccccoooooonnnn... 6,16,000
Depreciation (for revaluation) ..............cccccoeeeeivnnnn.... 2,70,000
Salary and Wages .....cc..ooovveeiiiiiiiiieeiiiee e, 2,10,000
INCOME TAX toeieiii e 3,60,000
Outstanding custom Duty .........ccccoovieeiiiiiiiineeniiinnn... 17,500
Proposed Divided ..........ccooooiiiiiiiiiiiii i 60,000
Consultation Fees paid to a tax expert ................... 21,000
Other EXPenses .......ooovvueiiiiieeeieeeieeeeeee e 1,39,000
Net Profit...ceccecccinnnueeeeeiiicciisssssnneececsssccsssnns 14,56,500

Additional Information :

(1) Deduction u/s 80 IB - 30%

(2) Admissible depreciation u/s - 32 Rs. 5,36,000.

(3) For tax purposes carry forward loss Rs. 14,80,000
(4) Unabsorbed depreciation Rs. 70,000

(5) Long term capital gain Rs. 60,000

(6) Income Tax - 30% and Surcharge - 3%

Compute the Net Income and Tax Liability for
Assessment year 2017-18.
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2 (@) Varsha Co. Ltd is a widely held company. The 10
company requires Rs. 50,00,000 for development
its Business. This amount can be received from the

following :
Particulars Alternative-1 Alternative -2 | Alternative -3
Rs Rs Rs
Equity Shares 50,00,000 20,00,000 10,00,000
14% Debentures - 20,00,000 15,00,000
18% Loan . 10,00,000 25,00,000

Expected Profit before tax is 25%. The average past rate
of dividend paid is 20%, Income Tax - 35% and
Surcharge - 2.5%, Tax on dividend - 12.5%

Which is the best option ?

(b) Explain Bonus Share and Tax Planning 10
OR
2 (@) Karan purchased 1,100 equity shares of 10

Tata Company on date 11-6-1979 @ Rs. 30 per share
(brokerage 1%). On date 23-5-1984 , he gets 550 bonus
shares. Fair Market value of bonus shares Tata Co. Ltd
on Date 1-4-1981 is Rs. 46. He sells 1,100 original shares
on date 10-03-2017 @ Rs. 116 per share (Brokerage 1%).
Further on Date 29-3-2017 he sells 550 bonus shares @
131 per share (brokerage 2%). Find out the amount of
Capital gains. (Index 1981: 100 and 2017:1125)

(b) Write a short note on Dividend Policy and Tax 10
Planning.
3 From the following options which option for getting 15

lease is acceptable :

(1) Income tax rate 35 % and 2.5 surcharge

(2) Cost of capital - 14%

(3) Depreciation rate for Income Tax Act-25%

(4) Expanses of Lease - annual for five years Rs. 34,000
(per year Rs. 1,00,000)
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(5) The present value for five years at discount rate 14%

for Rs. 1 is the following :

Year 1 2 3 4 5
PVF/A [ 0.877 [ 0.769 [ 0.675 1 0.592 | 0.519
(6) Scrap value Rs. 5,000.
3  Hetal company Ltd, is considering the purchase of a 15

new machine costing Rs. 60,000 and expected life of 5 years

with salvage value of Rs. 3,000, in replacement of old machine

purchased 3 years ago for Rs. 30,000 with expected life of

8 years. The present market value of this old machine is Rs.

35,000. Because of the purchase of new machine, the annual

profit before depreciation are expected to increase by Rs.

12,000. The relevant depreciation rate for the machine is 25%

on written down value basis and the tax rate 35%.
After the tax, cost of capital (discount rate) 14%.
From the following discounting rate 14%

Year

1

2

3

4

PVF/A

0.877

0.769

0.675

0.592

0.519

Advise the company suitably.

4  Write short notes : (any three)
(1) Explain the method of Tax Planning

(2) Explain the Free Trade Zone

15

(3) Give the differences between Tax Planing and Tax

Management

(4) Explain the advantages and disadvantages of Tax

Planning.

(5) Explain the Tax Avoidance, Tax Evasion and Tax

Incidence.
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